MEP Book 1 ANSWERS

Draw a dot in a box for every shape in each picture.
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MEP Book 1 ANSWERS

Draw lines to match up each pair of animals. /&

Colour the animals from each pair in the same colour.
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Draw a dot in a box for every pair of animals. e o o o

Lines drawn joining pairs of animals.

Colour the same vehicles in the same colours.
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Draw a dot in a box for every lorry in the picture. o o

There are only 2 pairs of identical vehicles.

Continue the pattern.
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Colour the longest pencil yellow.

Colour the shortest pencil green. >

Colour the tallest house red.

Colour the smallest house blue.

Continue the pattern.
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Colour blue as many glasses as there are plates on the table.
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Circle the car which does not match. %

= =

Colour the same animals in the same colour.

Continue the shading pattern.

Change the shading as shown.
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Colour the boats in different ways. Use green, yellow and red.
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Colour the same toys in the same colour.

Draw a line beneath the toy of which there is only one.

Draw around the group which has less ice-creams. (\/

Draw as many dots in the grids as there are ice-creams.

&
Where would you put the fruit and where would you put the flowers?

Show your answer by drawing lines.

Colour in the first 4 shapes as shown. Continue the colouring pattern.

Draw in the missing arrows.

= — P> A

o>
Thisis shorter  than this %,\/’
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Colour the longest kite red and the shortest kite blue.

Compare the pictures. Draw around the group which has more.
Draw signs: <,>or =

Beesd > §E88

G220 =

FEEREE = YTV Y

Draw dots on the balls to make the signs correct.

%5<@>@>(A5
Co=069< @9 >

E.g:

Draw lines in the boxes so that the signs are correct.

<|l < + Il =lll>|| +
| + > |l +||I<lll= | +
[l < |[ll]| = + | |>1 > ||+
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Join up the pictures which have the same number of objects. /&

Draw as many dots in the grid as there are flowers in each picture.
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Compare the pictures. Write >, < or = between the pictures.
Complete the drawings to make the signs correct.
E.g:

(o) < | <000 < 0OOO00O0O
of [ [[] oo | || ooje | | olofe]e]o]
Complete the table.
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Colour the beads in different ways. Use red or blue.

SERERERARERER,
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Match up the elements as shown. /& Which has more?

) Write < or > in the box.
a

X | <] O

1
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1 2 Any 2 of 2 1

these or 2 —— signs

A
v
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NS
1)

Complete the drawings to make the signs correct.

)
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Join up the trains which are the same length. /&

LD LI ID

Colour the longest train red and the shortest train blue.

Complete the drawing of the tree. Draw arrows towards the taller tree.

This is than this.

a) Draw around the shapes which have less sticks than, or the (\/
same number of sticks as, the shape at the start of the row.

SN LY N

b) Draw around the shapes which have more sticks than, or the
same number of sticks as, the shape at the start of the row.

A+ <vOBEO

Colour in the houses as shown.
E.g:

Q
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~<
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Show how Paul can choose two balls from a red ball, a white ball and a

green ball.
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There are only 3 possibilities.

a)

b)

Draw the matching number of dots in the grid. Circle the correct sign(s\/
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Draw the matching number of dots in the grid. Cross out the wrong signs.
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Complete the pictures to match the signs. E.g:
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Show different ways to share a red ball, a white ball and a green ball

between Ann and Bob.
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Complete the drawings to make the signs correct.

-
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Draw matching dots in the grids and write correct signs between the
pictures.

< = <
2] 3 3 4]

OO |[g]] AAA |[Z]] 000 |[<]] UL
oTol [ 11| x| elele] [ [ |[<|e[e[e[ [ [ |[=] elelelo] |

Continue the pattern.

Draw less objects and more objects than the number in the middle.
E.g: Less More

GG
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Continue the pattern.

Ll L2 Ll 2

**************************************************************************************************************

Write the correct signs in the boxes.

<+ r=m=Ir+1+1=>=I

Continue the pattern.

ANO AANO ANO AANO AANO AAO

~C
Show different ways to choose a meal. /

Ice-Cream
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Join up the pictures which show the same number.

D&

O &=

How many little chicks are in each picture? Circle the correct numl()\er./
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Complete the pictures.

Write the missing numbers in the boxes under the number line. /&
Join the pictures to the number line.

Write the correct numbers and signs in the boxes: 0,2, <,>,=

pe= ﬁ% £ §
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Draw a picture in each circle to make the signs correct.

N S Y A VA7 V-
CPICBIDID

Draw the correct number of dots in the grid beside each picture.

Write the number in the box.

1 0 o 1l e

A SIS RN

What is the machine doing? Complete the pictures.

) o4
Sl

b) ®@@/l
oo

Colour over
the thread
which could
lose its bead.
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How many balls can you see?
@ @? i How many animals are there? 1
* C How many clothes are there? 1
?!. @ Colour yellow the toy above the ball.
a o Colour red the toy to the left of the ball.
@%:Sﬁ Colour blue the toy to the right of the ball.

Draw the toy which is in front of the car.

Draw the toy which is behind the car.

Draw one of the toys on the top shelf. N

(o] [o] [o]
@ @ @ Colour red the first toy from the left on the middle
shelf.

.

Colour green the second toy from the right on the
bottom shelf.

l \
O
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Join the pictures to the corresponding point on the number line. /&
Write the numbers below the pictures.

Colour the necklace
which has more beads. W

Compare the two parts of each domino. Write it down using numbers and signs.

[ [ [ [
®

L o [ ] [

21>10 0|<|1 2| =|2 0|<|2

. .
o [ o [

o o

=11 2> 10 1|>0 1< 2

Colour the row which is different.

ood ood
oo ooy
ooU ooy
oom oo
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Complete the right-hand side of each picture to match the numbers and signs.

1 <2 2> 1 0<22 2

|
)

Fill in the missing numbers.

0+0 =10 O0+1 =1 0+2 =12

1+0 =11 1+1 =12 2+0 =12

Fill in the missing numbers.

1=0+1 21 =1+1 31=2+1

0/=0+0 20 =0+2 11=1+0




Complete the equations to match the pictures.

MEP Book 1 ANSWERS

SIRE

SRR

S

I+1=2 2-1=1 10+2=2 2-2=0

What do the pictures tell you? Complete the subtractions.

2—-1=1 2-2=0 [1-1=0 12-0=2

What do the pictures tell you? Complete the subtractions.

2—-0=2 1-0=1 10-0=0 1-1=0

Fill in the missing numbers.

0-0
1-0

-1

0

1

0

2-1

0-0

1-0
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Join each domino to the matching addition and to the correct point /&
on the number line.

1 1 ] | | | >
I I -

0 1 4 5

0+ 2 0+0 0+ 1 2+ 0 1+0 1 + 1

Write the answers in the boxes. Display the equations by drawing sticks.

ay 1+1 =12 |+ =
by 2+0 =2 l+0=I|
o 0+1 =11 0+ =|
d 2-2=10 I=11=0
ey 1-0=11 |—0 =|

Complete the subtractions to match the pictures.

ep) (*» U9 (==

2-1=1 21—-121F70
Solve: O0+0 =10 1+0 =11 240 =12
0+1 =11 1+1 =12 2+1 =13
0+2 =12 142 =13 2+2 =14
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Colour in as many pears as will make the inequality true.

1> 0

Compare the two sides of each domino. Write it down in different ways.

° ° °
° °
° ° ®
1 <t|2
1 + = 1 =
1+1=2 11 > + = 4
2—-11|=1 1| -lol=1]2|-]2]|=

Fill in the missing numbers.

0O+/0/=0 1|+1=2 1 -10]=1
O+|1]=1 2+|0|=2 2/-2=20
214+ 0=2 0-10(=0 21 -1=1
I +(0]=1 2 —-11|=1 1|-0=1

Colour in any shape in the bottom row which is different from the one above it.

FION A0 ED e
AN OO
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Fill in the missing numbers.

0=0+10 1=1+10

1 =0+ 1 2=1+11

2=0+|2 1=]1]+0
Fill in the missing numbers.
2=2-10 1 =1-]0 0=(01[-0 1=11/|-0
1 2—1 0=1-]1 0=|1|-1 1 =|2[-1
0=2-2 0=(21]-2
Fill in the missing numbers.
b) =1, 1 + 1 2 =0, 7 +0 =1, 1

— + 1

o O+1 1 + 1 2 +0 ’ =1 >
What number makes each statement true?
ay 2-1>10 b) 21=1+1

0+1 < |2 Eg: 2or|1|>0+0

I+1>|1 |or0 Oor| 1< 240

1+0 >0 Eg 2or| 1|>1-1
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a)  Which numbers have been covered up?
|1+Wf| 0+ 2 12— 1 |1+W|
| — | | o |
W = 1 W = 0
b)  Write down the equation for each balance with a hand.

1 +1=2 1 +0=1

Compare the numbers. Write the correct signs in the boxes: <,>, =

a) 1 |<|?2 by 1+1|=|2 ) 2-1|<]2
2(>10 1+0 < |2 2-2 1
0 <1 1+1|>]1 2-1 1
Fill in the missing numbers. Show what the lower arrows mean.
" 1 ) 1 ! 2 ? 2
+ = . +
ol 2t 2yl O

Which number has been covered up?

o+2=M 2-W=1 1+1= M 1=,

Which number makes each statement true?
a) 2+0=|0|+2 b) 0+1 =|2|-1
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Write the missing numbers in the boxes.

+ 1 +0 —2 -0 + 1 —0

1

Write the correct sign in each box.

2 -1 | <|1+1

@)
+
[\
Il
p—
+
[E—

Write the correct number in each box.

a) 1+1 <2+ [tor? by 0+1 =|2]-1

) 2 -2<0+ [tor? d 2-0> 2 — fior2

Which numbers might be covered up?

1+ 0

a)
1ty — =l

b) \ﬂ%
/=1

&+1| wzlm
[ |
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